TUNGSRAM

RADIO

65

Heizung:

V=63V

Einstellung:

Va =250V
Vg2=100V
Vg1 == -——2V

Betriebsdaten:

= 5000

Grenzdaten:

Autoc H. F. Penthode TEF 6

Domkolben; max. Lange cca 90 mm; Durchmesser cca 32 mm.

f=02A

la =3 mA

lg2=11 mA
S=2 mAV

Vao mox . ... ... ... = 5880V Va max=250V
Vg20 max - .. . - = 550V Vg2 max=125V
Ik max .. o — .= b mA Vik max=50V
Vgl max (Ig1 = 03pA) = —13V  Rgla max=1% Ma
Kapazitdten:
Cal =49 pf Ca=67 pf
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Ri=25 Me

Wao mox=1 W
Wg2 max=03 W
Rfk  max==20.000¢
Rgtf max=1 Me

Cgla < 0003 pF



